
Toutes les Opérations (F)Calculez chaque somme, différence, produit, ou quotient.22 - 11 = 5 + 19 = 8 + 13 = 285 ÷ 15 =16 × 1 = 29 - 11 = 40 ÷ 4 = 3 × 4 =15 - 3 = 22 - 11 = 20 × 5 = 15 ÷ 3 =10 + 4 = 200 ÷ 10 = 10 - 2 = 11 - 7 =65 ÷ 13 = 15 - 6 = 26 - 7 = 70 ÷ 10 =25 - 6 = 19 + 16 = 16 + 1 = 9 × 9 =23 - 18 = 14 ÷ 2 = 16 × 16 = 114 ÷ 19 =16 × 10 = 45 ÷ 5 = 15 - 8 = 132 ÷ 12 =323 ÷ 19 = 5 + 17 = 6 × 15 = 5 × 7 =9 × 8 = 7 × 9 = 36 - 17 = 13 × 11 =120 ÷ 12 = 19 - 18 = 10 ÷ 10 = 17 × 20 =15 + 9 = 260 ÷ 13 = 25 - 9 = 14 + 7 =216 ÷ 18 = 28 ÷ 4 = 11 ÷ 11 = 153 ÷ 17 =9 × 17 = 114 ÷ 19 = 4 + 7 = 119 ÷ 7 =3 + 9 = 99 ÷ 9 = 16 × 12 = 13 + 13 =16 + 3 = 16 - 10 = 17 × 7 = 168 ÷ 12 =11 × 5 = 14 × 16 = 8 × 2 = 20 ÷ 20 =2 × 3 = 25 - 5 = 13 + 3 = 7 + 8 =8 × 6 = 20 + 17 = 8 + 9 = 76 ÷ 19 =22 - 5 = 2 × 11 = 6 × 12 = 6 × 7 =4 × 7 = 55 ÷ 5 = 17 + 17 = 1 + 6 =16 - 10 = 9 × 20 = 3 × 1 = 200 ÷ 20 =18 × 17 = 15 × 19 = 112 ÷ 14 = 18 - 11 =4 + 8 = 96 ÷ 12 = 11 - 8 = 24 - 17 =9 + 16 = 49 ÷ 7 = 12 - 11 = 37 - 20 =Mathslibres.com



Toutes les Opérations (F) RéponsesCalculez chaque somme, différence, produit, ou quotient.22 - 11 = 11 5 + 19 = 24 8 + 13 = 21 285 ÷ 15 = 1916 × 1 = 16 29 - 11 = 18 40 ÷ 4 = 10 3 × 4 = 1215 - 3 = 12 22 - 11 = 11 20 × 5 = 100 15 ÷ 3 = 510 + 4 = 14 200 ÷ 10 = 20 10 - 2 = 8 11 - 7 = 465 ÷ 13 = 5 15 - 6 = 9 26 - 7 = 19 70 ÷ 10 = 725 - 6 = 19 19 + 16 = 35 16 + 1 = 17 9 × 9 = 8123 - 18 = 5 14 ÷ 2 = 7 16 × 16 = 256 114 ÷ 19 = 616 × 10 = 160 45 ÷ 5 = 9 15 - 8 = 7 132 ÷ 12 = 11323 ÷ 19 = 17 5 + 17 = 22 6 × 15 = 90 5 × 7 = 359 × 8 = 72 7 × 9 = 63 36 - 17 = 19 13 × 11 = 143120 ÷ 12 = 10 19 - 18 = 1 10 ÷ 10 = 1 17 × 20 = 34015 + 9 = 24 260 ÷ 13 = 20 25 - 9 = 16 14 + 7 = 21216 ÷ 18 = 12 28 ÷ 4 = 7 11 ÷ 11 = 1 153 ÷ 17 = 99 × 17 = 153 114 ÷ 19 = 6 4 + 7 = 11 119 ÷ 7 = 173 + 9 = 12 99 ÷ 9 = 11 16 × 12 = 192 13 + 13 = 2616 + 3 = 19 16 - 10 = 6 17 × 7 = 119 168 ÷ 12 = 1411 × 5 = 55 14 × 16 = 224 8 × 2 = 16 20 ÷ 20 = 12 × 3 = 6 25 - 5 = 20 13 + 3 = 16 7 + 8 = 158 × 6 = 48 20 + 17 = 37 8 + 9 = 17 76 ÷ 19 = 422 - 5 = 17 2 × 11 = 22 6 × 12 = 72 6 × 7 = 424 × 7 = 28 55 ÷ 5 = 11 17 + 17 = 34 1 + 6 = 716 - 10 = 6 9 × 20 = 180 3 × 1 = 3 200 ÷ 20 = 1018 × 17 = 306 15 × 19 = 285 112 ÷ 14 = 8 18 - 11 = 74 + 8 = 12 96 ÷ 12 = 8 11 - 8 = 3 24 - 17 = 79 + 16 = 25 49 ÷ 7 = 7 12 - 11 = 1 37 - 20 = 17Mathslibres.com


